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T.Y. B.Sc. (Semester - VI)
COMPUTER SCIENCE
CS-361 : Operating System - 11
(2019 Pattern) (CBCS)

JMax. Marks : 35

Time : 2 Hours|
Instructions to the carididates:

1)
2)

Q1) Atterapi any eight of the following :

a)
b)
)
d)

e)

g)
h)
i)

J)

Ali guestions are compulsory.
Figures to the right indicate full marks.

8 x 1 =8]

What is request edge?

What is safe state?

Write the names ul'l u_n'y iwo disk allocation methods of disk space.
List disk pcrl’nrm:mcé parameters.

Define distributed syl.s'lcm.

What is size scaiability?

List the different architectural styles of distribuied operating systems.
What is kernel?

What is RISC in ARM architecture?

Write any two special service requirements of mobile operating system.

PTO.
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02) Attempt any four of the following : [4 x2=23]

a)  Write the difference between SCAN & LOOK disk scheduling

algorithms.
by Define seek time & rotational latency.
¢)  Explain features of mobile operating system.

d)  Give a comparative study of any four points of Android mobile
operating system and Apple 05 mobile operating system.

¢)  Write a short noie on centralized organization of system architecture.,

03) Attempt any two of the following : [2 x4 =8]
a)  Explain any two deadlock prevention strategies.
b)  Fxplain sequential access & Direet access methods for a file.

¢) Write a short note on cloud computing system.

04) Attempt any two of the following : _ [2x4=8]

a)  Consider following snapshot-of the system. A, B, C. D are the resource
types. Answer the following questions using Banker's algorithm.

i) What are the contents ol Need matrix/array?

i) 1 the systcmlis' in the safe state, give the safe sequence.

Allocation ‘ Max Total .
R S N S—— . . e

A|B C D .ij}CD
P, lo| 0| 1|2
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b)

Explain any four file operations.

¢) Explain the design goals of distributed systems.
: ok Edinl [1x3=3]
Q3) Attempt any one of the following : _
et Come First-Served (FCES)
@) What is total head movement for l-ns.l-(_mm llllﬁl‘ ,:k%““ cylinders
scheduling for the disk queue with requests for /O 1o )'(1 N Fok head is
08, 183, 37, 122. 14, 124, 65, 67 in that order, I the dr
initially o cylinder 53,
: . of maobile operatin
b) Explain the special constraints & requirements of mobile operating
systen.
[5902]-61
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T.Y. B.Sc. (Computer Science)
CS - 362 : SOFTWARE TESTING
(2019 Paitern) (Semester - V) (CBCS)
Time : 2 HoursJ [Max. Marks ; 33
Instructions to the cendidaies:
1) Al questions ure compulsory.
2)  Figures to the right indicate full marks.

3) Assuwme suitable data if necessary.

Q1) Auempt any 8 of the following.: [8 = 1 =8|
a)  What is fault?
by Define verification.
¢)  Define stub.
d)  Write methods of white box tesung.
¢)  Define |cgrcssitnn_,lcs'tm'_l._::_ ‘
f)  What is Agile Mclh'pdtlwlog}-'?
g) List dimensions of quality
h) Define strategy for web applications.
1)  Define acceptance testing.
j) Black box testing is called glass box testing Justify 1TI'F.
02) Attempt any four of the following : Y- [4 % 2=8)

a)  Write short note on testing roles.

b) Explain white box and black box lc§tir;_;,_';.

¢) Compare testing and debugging any two puiﬁls.
d) Explain performance of testing.

e) Write a short note on features of Agile testing.

PT.O.



Q3) Atempt any two of the following : |2 x4 =8]
a)  Explain test case with example.
b) Write a short notc on V-model with diagram.

¢)  Explain navigation testing in detail,

04) Auempt any two of the following : [2 x 4 =8|
a) - Write a short note on alpha & beta testing.
b) Explain integration testing. What is bottom up integration,

¢)  What is web application? How it works explain-with diagram.

05) Attempt any one of the following : | [1 x3=23]

a) Explain different layers (_)f'ffufblnai‘i:(i lests.

b) Worite a short note oninternationailization testing.

> 'ooo <
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T.Y. B.Sc. (Cemputer Science)
CS - 363 : WEB TECHNOLOGIES - 11
(2019 Paitern) {(Semester - VI) (CBCS)

Time : 2 Hours| L DI 2,53

Instructions to the cendidaies:
1) All questions ure compulsory.
2)  Figures to the right indicate full marks.

QI) Attempt any EIGHT of the following : |8 x 1=8]
a) How to set response hcud_er in PHP?
b) - Write any two applications of using AJAX.
¢)  What are XML namespaces”
d) Write the clements of global array 5_SERl\’ER.
e) Give any two limitations of JavaScript.

f)  Whether root element is required for XML file? If so, how many root
elements are required?

g) What is the use of iSNAN() function in Java Script?

h) What are different values of readyState property of XMLHttpRequiest?

i) List out parts of XML document structure. |

"

. , ' . .- .. 5 N . e . ‘ —n I 5
J) Which function is used (o create cookie in PHP? Give syntax of it,

02) Attempt any FOUR of the following : Q™ [4 % 2 = 8]
a) List any four datatypes that JavaScript support \_\'ilh'. its usage.
b) How to start and destroy session in PHP? Give syntax.
¢) Draw AJAX web application model.
d) What is MVC? e

e) What are different rules to make XML document well-formed?

PTO.
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(3) Attempt any TWO of the following

a)
b)

C)

04) Attempt any T\\O nl'the following :

a)

b)

C)

[5902]-63
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[2x4=8]

ample.
Explain the JavaScript Lnnhrm dialog box with suitable cxamg

Explain Codelgniter architecture with suitable diagram.

A : PRSI )
What are different technigues to maintain state in PHP?

[2x4=8]|

Writz an AJAX program to dhpla\ list of countries -»uhcd in an array
on clicking OK bultnn

Design the HTML form to accept Employce name, AﬂL and Mobile
no. and perform the following validation using Java Script

i) No field should be empty.

i) Mobile no. must contain 10 digits -
Suppose following books.xml is loaded into xmlDoc. Get the first
<book> element and chqng'e the "category” attribute value to “food”
using XML DOM,

<?xml version="1.0" encoding="UTF-8"7>

<bookstore>

<book category="cooking">

<title lang="en">Everyday Italian</title> ~.~ . *
<author>Giada De Laurentiis</authors.- " ~ )
<year>2005</year> >
<price>30.00</price> |
<book>
</bookstore> A
C\



05) Attempt any ONE of the following : [1x3=3]
a)  What is XML parser? Explain l\\;ﬁ different types of XML parsers.

b)  Write down the steps to integrate external CSS and JS file in Codelgniter.
Give example.
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T.Y. B.Sc. (Semester - VI)
COMPUTER SCIENCE
CS-364 : Data Analytics
(2019 Pattern) (CBCS)

Time : 2 Hours| [Max. Marks : 35

Instructions to the candidates:
1) Al questions are compulsory.

2)  Figures {o the vight indicate full marks.

Q1) Attemipt any eight of the following (out.of 10). [8x1=8]

a) - Define Data Analytics. ‘?‘.I" v

b) Whatis AVC & ROC cur\'e‘."

¢)  Write any two aphl_icutiom of Supérviscd Machine Learning.

d) Give the forn_‘iﬁ'lil-ﬁ)t‘ support & conlidence.

e)  What is an outlier? ( . ’ ks n
f)  State applications of NLP. |
¢)  What is web scraping? y
h) What is the pnrp_ol«:c of n-gram?

i)  Deline classification.

j)  Define Recall.

02) Attempt any four of the following (Out of five). - [4 x 2 =8]
a)  Explain the concept of underfitting & overfitting.
b)  Whatis linear Regression? What type of Machine learning applications

can be solved with linear Regression?-.’

PTO.



¢)  What is Social Media Analyties.
R "
d)  What are the advantages ol FP-growth Algorithm:
s S ')
¢)  What are dependent & independent vartables®

; : Ixd4=98
(3) Attempt any two of the following (Out of three). ‘ l

a)  What are lrequent itemsets & association rules? Deseribe with example.
B What is stemming & lemmatization?
¢)  Explain various types of Daty Analytics.
(Q4) Attempt any two of the following (Out of three). |12 x4 =48]
a)  What is Bag of words & DOS tagging in NLP?
b)  What is Logistic Regression? Explain it with example.

¢) ~Consider the following database & find out the Iu.quml itemsel using
Apriori Algorithm with minintum support threshold =

T. id. 1 llcm—purc'lmsud
! I mas
- ET.C
3 M.E.T.C
4 . E.C
5 )
05) Auempt any one oi"l-hc following (Out of 2). [1 x3=3]
a) Define the terms
i)  Confusion Matrix H

i) Accuracy
i)  Precision

b) What is Machine Learning? Explain its type.
X

Pomomiar

Wy
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[5902}-65

T.Y. B.Sc. (Semester - V1)
COMPUTER SCIENCE (Paper - V)
CS-365 : Object Oriented Programming using Java - 11
(2019 Pattern) (CBCS)

Time : 2 Hours] [Max. Marks : 35

Instructions to the candidates:
1) Al Questioas are compulsory.

2)  Figures o the right indicate full marks.

Q1) Attemptany EIGHT of the following. . : [8 x 1 =8]
a)  Whatis collection?
b)  Define Thread Priqrily.
¢)  Whatis jdbe? |
d) Define Session. - |
¢)  What is usc of request UbjCL‘l';‘
f)  Wnteany one ﬂpﬁliCﬂtiﬂﬂ of spring.
g)  Whatis use of join( )_nwt‘hml'?
hy  Define HashTable.”
1) Whatis use nl'conni‘-it( ) method?

j)  Listany two implicit object in ISP,

02) Attempt any four of the following, " |4 x 2 = 8]
a)  Write any two differences between Array Listand Linked List.
b)  Give any two field of Resultset Interface. T

-

¢) Give any two types of servlet.

PT.O.



d)  Differentiate between sleep( ) and interrupt( ).

¢)  Write a syntax of getcookies( ) method in servlet.

03) Attempt any Two of the following. [2 x 4 = 8]

a)  Writca jdbe program to accept details of student (RN, Name, percentage)
from user. Display that details.

b)  Write ajava program in multithreading to display all the numbers between
I to 10. =ach number should display afier 2 seconds.

¢)  Write a jsp script to check the given number is prime or not. Display the
resultin blue color. -

04) Attempt any two of the following. [2 x4 =8

a)  Write a Servlet program to get information about the server such as
name, port number and version ofscf\'cr. N

. A
by  ExplainJSp lifecycle in details.~
c) Explain Synchronizalim‘y withan example.
05) Attempt any one of the fo.I_lGWiﬁg._ ~ [1x3=3].
a)  Explain execution process of servlet application. <

W,

b)  Write a java programto accept 'n' names from user store them into Ai"ﬁiy
List, sort them in ascending order and display it, o

L e

[5902]-65 2
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[5902{-66
T.Y. B.Sc. (Semester - VI)
COMPUTER SCIENCE
CS-266 Compiler Construction
(2019 Pattern) (CBCS)

Instructions to the candidates:

1)
2)

All questions are compulsory.

Figures to the right indicate Sull marks.

Q1) Alterupt any eight of the following (out-of Ten)::

f o\

[Total No, of Pages : 3

/Ha\ Marks : 35

[8x1=8]

a)__ -. YACC is a compiler or Parser. \\-’ri(é Cm‘i‘ccl Statement.
b)  Write aregular expression in Iuc for hLA decimal number in C language.
¢) Define cross Compllm ) N
d) List any two lr'a'nsi'o_rr‘natibns _p;:rl'urmecl on basic block.
e)  What is sentinels?
f)  Define Annotated Parse Tree.
g) Name the types olLR parser.
h)  What is hasic_b!nék'?
1)  State the use of function retract (). e ®
N
j)  Construct LR(1) items for the following pl()dlléll()n
S—e
02) Attempt any four of the following : : \i

a)
b)

~ ) - .-\\i
List out all phases of compiler in sequeicee.

Define synthesized attribute and Inkerited attribute.

o

'\\

[4)(2:3]

PTO.



C) ('unslruct a4 DAG for block :

b = a[i]
aljl =d
e=ali

i , . ' k ) arsing,
) Differentiate between top-down parsing and bottom-up parsing

¢)  Define lefy reeursion. How it can be eliminated?

03) Allempt any two of the following (out of three) : o [2x4=38]

@) Cheek whether the given grammar is SLR (1) or not.

S-S L=R|R
L-*R|id
R— L

b)) Write lex program specification. Explain the Lex library functions
associated with lex in brief, -

¢)  Compute First & Foll_(_)\;' for (he following.,
S - BD|AB :
A — aAalb
B — bAa |e

D—oe

0Q4) Atempt any two of the following : 2x4=§)

a)  Check whether the give grammar is LALR (1) or not,
S = aAd [ bBd | aBe | bAe ¢ ) ES

A-c

B—-c¢

[5902)-66 2



b)  What is multi-pass compiler? Explain diagrammatically with i
advantages and disadvantages,

¢} Consider the following syntax-directed definition and Draw the
Annotated parse tree for the Wput string 5+3%4,

[ e . .
- Production Semantic Rule [

L~y En Print E.val |_
!1 ES EIRT | E.val=ELval+T.val |

|
" E ST | E.val=T.val
r-——____. e —————
!

. \ "
" T->TI*F | \ T.wval=TLval* F.val

|
Lae=_—
| . -
o ToF
I

| T.val=F.val

- (E) F.val=E.val

F — digit ! Fye

U=digitlexval

e — ———

%

Q5) Attempt any one of the following :

[1x3=3]
a)  List the code optimization techniques. Explain anyone technique with
an example. . \
b)  Draw the operator precedence table for the following grammar :
E = E+E [E*E |E-E |id
4. ) h -
“ N
>
e
a
[5902]-66
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PA-1037
[5902}-67

T.Y. B.Sc. (Computer Science) (Semester - VI)
CS-3610 : Software Testing and Tools (Paper - VII)
(2019 Pattern)

Time : 2 Hours] [Max. Marks : 35

Instructions to the candidates:
1) Al questions-are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any cight of the following (out.of Ten) & [8 x 1 =8]

a) - Define Test Automation,
b)  What is test report?
c)  What is static testing?
d)  Whatis error?

e)  Write any two softiare defect by nature.

.

f)  Define Smoke testing. ~ N
g)  Test suites are used to.group similar test cases. State TRUE or FAL:S'I‘E.
h)  What is Cyclomatic complexity?

i)  How many I}'pcs't_ﬂ' testing tools?

j)  Define code coverage in white box testing.

02) Attempt any four of the following (out of five) : . 4 x2=8]
a)  List the goals of loop coverage testing. :
b)  Define test criteria and explain its types. | e ™ |
¢) List any two web based open source :ullom“-:'i't‘inn software testing tools.
d)  Define priority defect and its different levels,
e)  Write any two features of Bugzilla tool.
N PT.0.



(3) Attempt any two of the following (out of three) : 12 x4 =8]

a)  What are different types ol loop testing? Explain in details.
b) Explain IEEE Std.Test Incident report in details.

¢) Develop source code (o check if number is prime or not in €
Programming lang. ' '

i) Draw the control Tlow araph.

i) Calculate Cyclomatic complexity for all methods.

iii) Listall imib'p;cmlcnl path test cases for independent paths.

04) Attemptany two of the following (oul of Three) : [2x4=8]

a)  Create case study for verify the functionality of amazon login page.
b) Consider following code and apply decision coverage lesting create
use cases e ! \

Check-class(int x)

l
(x>80) ~
Pm("QY) =
else h_
Prinl("Claiss A™)
}

Test case |1 x >80 and Test case 2: x <80

¢) Explain STLC with its phases.

A
h \
Ty,
LY
.
.

05) Attempt any one of the following (out of Two) [1x3=23]

a)  Write short note on Classilication ol Defects.

b) Give any three features of winRunner.and selenium,

363636
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